Linear Functions Ms. Levenson

How do you determine key features of a linear function?

Linear Function | -graph is a non-vertical straight line

-changes by a constant amount over equal intervals
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Linear Functions Ms. Levenson

How is slope-intercept form useful?

Slope Intercept y=mx+ b
Form
1) plot b, the y-intercept -—-'7 LO I’b\

2) MOVE according to m

\5 2
-if it's a whole number, run 1 ——\—'

3) Use ruler/ ID to graph!

Write the equation of each line in slope-intercept form.
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How to convert to s%lzv‘g for y! -1 =7 11)(’j
S I fo rm Write each equation in slope-intercept form. Then graph the line. = 3 = b j/

5. x+y=4 6. 2x+3y=6
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Identify the slope and y-intercept of the graph that represents the linear swffation and interpret what
they mean. Then write an equation in slope-intercept form and use it to solve the problem.

8. Alocal club charges an initial membership fee as well as a
monthly cost. The cost Cin dollars is a linear function of Membership Cost 1‘]
the number of months of membership. Find the cost of the Time (months) Cost (8)

membership after 4 months. p— Al ‘]
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Linear Functions Ms. Levenson

How can you use intercepts to graph a linear equation?

Standard Form | Ax+By=C =2y -
. 3. )
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How to convert to -get rid of fractions 3 - L xx \l e )
Standard Form 3 e

-make sure A is positive &_.D(_;\)\I "alo q\ -
Find x & y intercepts! 2%-3y= 4
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Linear Functions

Ms. Levenson

How can you compare different types of functions?

Parameters

Reflection

Vertical
Stretch
Compression

Horizontal
Stretch

Compression

Vertical Translation

Horizontal Translation
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Linear Functions Ms. Levenson

Lesson Performance Task

Laura wants to hire a lawyer to file deeds for some properties she ¥ Lawyer A A
owns. The graph illustrates costs for her two choices of lawyers. Using 200 1 {4, 180)
the points on the graph, construct a table of results and two equations. N 5
Which lawyer is a better choice for her if she has 8 deeds? Which ey 150 ;90
lawyer is a better choice if she has 2 deeds? Why? Over the long run, :": 100 I
which lawyer is more cost-effective? 8 (2, 100) Lawped B
50+ (0, 75)
| I I I ' I I I I I x
LO\ ‘ \ Lﬁ“ﬁgﬂ B 0 2 4 6 8
Number of Deeds

I
I

O | 7% G 190 |
rc1<i|oo‘>‘;5242 2 20 G\ 7‘)’ A
q
Ll 15
b




	Page 1: Oct 20-11:16 AM
	Page 2: Oct 23-11:11 AM
	Page 3: Oct 26-12:17 PM
	Page 4: Oct 31-11:46 AM
	Page 5: Nov 8-12:48 PM

